Ly £
@? — OOO%’ 518 Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
7,778 x 10 = 3,635 x10 =
6,934 x 1000 = 2,589 x 100 =
6,348 x 100 = 6,534 x 100 =
10, 571 x 1000 = 2,305 x 1000 =
4,641 x 1000 = 10,007 x 10 =
4,756 x 10 = 9,891 x 100 =
3,162 x 1000 = 8,698 x 100 =
4,817 x 1000 = 1,895 x 1000 =
7,873 x 10 = 1, 886 x 1000 =
9,085 x 1000 = 6,971 x 1000 =
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StudentName: ExamDate: __ ExamScore: ____
7,778 x 10 =77.78 3,635 x 10 =36.35
6,934 x 1000 = 6934 2,589 x 100 = 258.9
6,348 x 100 = 634.8 6,534 x 100 = 653.4
10,571 x 1000 = 10571 2,305 x 1000 = 2305
4,641 x 1000 = 4641 10,007 x 10 = 100.07
4,756 x 10 = 47.56 9,891 x 100 = 989.1
3,162 x 1000 = 3162 8,698 x 100 = 869.8
4,817 x 1000 = 4817 1, 895 x 1000 = 1895
7,873 x 10 ="78.73 1, 886 x 1000 = 1886
9, 085 x 1000 = 9085 6,971 x 1000 = 6971
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